Calculation Policy: Subtraction
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Count back from the biggest number:
7-2=5
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Number bond method:
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Bar model:

Column subtraction:
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Abstract calculations:

Commutative| Inverse
25+3=28 | 28-3=25
3+¢25=28 | 28-25=3

Number bond method: Number bond method:
Number bond method: Number bond method: Number bond method:
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650 1720 1720
+4 4 +4
Bar models: Bar model: Bar model:
Bar model: Comparative model:
B 1724 m
Column subtraction: Column subtraction: Column subtraction:
Without renaming: With renaming: THhot rerenia “"2" 18 Without rencming: With renaming:
1728 6 118
658 6488 1728 1728 17278
- 4 - 349 4
654 309 1724 379
Abstract calculations: Abstract calculations: Inverse Calculations
Comnatarive | Tnverse Commutative| Inverse Commutative| Inverse
658 - 4 = 654654 + 4 = 658 1728 -4 = 1724 | 1724 + 4 = 1728 1728 -4 = 1724 | 1724 +» 4 = 1728
658 - 654 = 4|4 + 654 = 658 1728 - 1724 = 4 | 4 « 1724 = 1728 1728 - 1724 =4 | 4 « 1724 = 1728







